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ux+wvy=1
p(u,Vv)dudv

p(u,Vv) = (u? +v?) %2
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f(r,0)dA= f (r,0)rdrde
g
o(r) = || déF (r.6)
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f(r,0 ) Y S, 9(r8)
f(r,0)=9(r,0-a) (12.55)
¢
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f(r,0)=9(r,0) (12.56)
O<a<2r a
f(r,0)=f(r)
(1931)
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(12.55)
(12.56)
f(r)
[ dof rarf (r) =1 (12.57)
R aR O<acx<i1
h(r)rdrdé@
dA=rdrd@



f(r) h(r)

f(r)=2zh(r)[ “rarf (1) O<a<l O<r<aR

f(r) h(r)

rdrdé (ar)d(ar)dé
f(r) h(r)

h(ar)(ar)d(ar)dé = f (r)rdrd@

a’h(ar) = f(r)
(12.58) (12.60)

a’f(ar) =278 (1)[uduf u) O<a<l 0<r<R

a a=1
(12.57) (12.61)
qgr?
f(r)=
") 27R¢
q O<Qg<oo
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f(r) zl/\/(R2 — r2) (12.62)

(12.58)

(12.59)

(12.60)

(12.61)

(12.62)



C r,o) P
C r.oem P (r,
6)-(8")
r'-|r—bcosé | (12.63)
0 r > bcosd
0' = (12.64)
O+ r <bcoséd
P r P -
r r
c cC o O
C C
(12.62)
@ (b)
rr
C r
__4q a1
jrrdrdar (N=1 jrdrder (12.65)
C r
q ’ rfrN\O-1 _ q _ g-1
T [.arder(r) = [ drdé|r —bcoso| (12.66)
(12.63) (12.64)
r,o) (12.65) (12.66) r
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f(r,H):z—ﬂRr, 0<r<R, 0<02r (12.67)
A
(r0) A
A
(12.67)
(12.67)
(12.67)
(12.67) (.6 )
L=2{(R?*-r?) x=L/2R
p(dx=— _ g<x<1 (12.68)
(1-x%)
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